

ORDER DATE:

Raceview State School Year 4 Booklist 2024



Nextra Booval Fair Newsagency

Shop 51-53 Booval Fair Shopping Centre Cnr Brisbane Road Booval 4304

Phone: (07) 3812 7512

PAYMENT OPTIONS: LAYBY, AFTERPAY, PAY UP FRONT OR ON COLLECTION

ORDERS SUBMITTED BY 15TH DECEMBER 2024 WILL BE AVAILABLE FOR PICK UP FROM 3RD JANUARY 2025
ORDERS SUBMITTED AFTER 15TH DECEMBER 2024 WILL BE ADVISED ON PICK UP DATES
PLEASE COMPLETE ALL DETAILS CLEARLY, IN FULL, USING BLOCK LETTERS

STUDENTS NAME:					
NAME:					
PHONE NUMBER:					
Please Supply the Total Pack at a Total Cost of	f \$154.40				
Please Supply <u>Only</u> the Items Selected Below					
2025 Stationery Requirements					
ITEM	CODE	QTY REQ	ORDER QTY	PRICE/ITEM INCL GST	TOTAL
Targeting Handwriting Year 4		1	1	\$15.95	\$15.95
Display Folder		1	1	\$1.70	\$1.70
Document Wallet A4 Poly With Button CLEAR		3	3	\$0.85	\$2.55
Scrapbook GNS 64pg	32690	4	4	\$1.80	\$7.20
Grid Book A4 10mm 96pg	EB6553	2	2	\$2.60	\$5.20
Exercise Book A4 64pg	97064	1	1	\$1.10	\$1.10
Exercise Book A4 Year 3/4 96pg	EB6535	8	8	\$2.60	\$20.80
Whiteboard Double Sided Bonus Marker	MBWPLAIN	1	1	\$6.95	\$6.95
Data Mesh Pouch A4 (To store headphones & mouse)	MA4A	1	1	\$3.45	\$3.45
Lead Pencils Faber School (Box of 12)	38164	3	3	\$2.80	\$8.40
Coloured Pencils Faber Castell 12pk	39594	2	2	\$3.25	\$6.50
Biro Bic Cristal Red	04242	4	4	\$0.40	\$1.60
Whiteboard Marker Osmer (Black)	OS501	5	5	\$1.10	\$5.50
Whiteboard Marker Osmer (Blue)	OS502	4	4	\$1.10	\$4.40
Highlighters 4Pk (Yellow,Pink,Green,Blue)	OH9229W	2	2	\$4.50	\$9.00
Sharpener 2 Hole with Cannister	PS8134	2	2	\$0.95	\$1.90
Eraser Osmer With Sleeve	OE222	5	5	\$0.35	\$1.75
Scissors 150mm Blue in Pouch (Circle L/R Hand)	OS240B	1	1	\$1.85	\$1.85
Glue Stick Osmer 40gm	OG40W	6	6	\$1.60	\$9.60
Ruler Wooden 30cm	300L	2	2	\$0.55	\$1.10
Whiteboard Eraser Mini	71385	3	3	\$0.95	\$2.85
Pencil Case With Name Insert		1	1	\$2.70	\$2.70
Mouse Corded		1	1	\$11.95	\$11.95
Headphones With Microphone Single 3.5mm Jack	HP103	1	1	\$11.95	\$11.95
Tissues 180		1	1	\$1.50	\$1.50
Copy Paper A4 Ream		1	1	\$6.95	\$6.95
		•	TOTAL P	ACK PRICE	\$154.40
ADDITIONAL REQUIREMENTS - TO BE PURCHASED FRO	M THE TUCKS	НОР			
LIBRARY BAG		1			
PLEASE NAME ALL OF YOUR CHILD'S BOOKS, STATIONE	RY AND EQUI	PMENT			